
Seat Frames & Frame Hardware



Seat Frames & Frame Hardware
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
15680X013 Anti-Rattle (1") 1 41

1029501 Plug Button, Black (1") 1 22
1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 43
1028769 Locknut (5/16-18) 1 44
1046494 Screw, Socket Button Head (5/16-18 x 7/8") 1 45

1046497-NLA NLA - Washer, Nylon (5/16 x 7/8 x 1/64") 1 46
1046496-NLA NLA - Pad, Foam 1 27
40117X021 Bearing (1/2" I.D. x 1-1/8" O.D.) 1 48

1024749 Clamp 1 29
1026911-NLA NLA - Screw, Socket Set Cone Point (1/4-20 x 1/2") 1 210

See Chart #11 Seat Frames and Frame Hardware 1 111

 
#11 Seat Frames

Seat Depth
19"18"17"16"15"14"Seat Width
----------8881048722-NL

A12"
----------8881048723-NL

A13"
--8881048755-NL

A
8881048748-NL

A
8881048739-NL

A
8881048731-NL

A
8881048724-NL

A14"
8881048762-NL

A
8881048756-NL

A
8881048749-NL

A
8881048740-NL

A
8881048732-NL

A
8881048725-NL

A15"
8881048763-NL

A
8881048757-NL

A
8881048750-NL

A
8881048741-NL

A
8881048733-NL

A
8881048726-NL

A16"
8881048764-NL

A
8881048758-NL

A
8881048751-NL

A
8881048742-NL

A
8881048734-NL

A
8881048727-NL

A17"
8881048765-NL

A
8881048759-NL

A
8881048752-NL

A
8881048743-NL

A
8881048735-NL

A
8881048728-NL

A18"
8881048766-NL

A
8881048760-NL

A
8881048753-NL

A
8881048744-NL

A----19"
8881048767-NL

A
8881048761-NL

A
8881048754-NL

A
8881048745-NL

A----20"
--8881082651-NL

A--------21"
--8881082652-NL

A--------22"
Specify frame color when ordering.


